Bid Schedule - Base

Project No.: PRA-NATR 3H23,J10

Project Name: NATCHEZ TRACE PARKWAY - MP 181 TO MP 195

State: MS Opened at: Sterling, VA
County: CHOCTAW By: Shirley Anderson

NATCHEZ TRACE PARKWAY Date: 06/15/11

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Raymond H Delpesche

Title: Procurement Technician Date: 06/15/2011

Contract Awarded to: Lehman-Roberts Company Date: 07/07/2011

Contractor	Bid Amount	Responsive
LEHMAN-ROBERTS COMPANY	3,108,909.32	
P.O. BOX 1603		
1111 WILSON ST		
MEMPHIS, TN 38101		
APAC- MISSISSIPPI, INC	3,532,346.90	
5725 HWY 18		
JACKSON, MS 39209		
PHILLIPS CONTRACTING COMPANY, INC	4,271,762.50	
P.O. BOX 2069		
1500 MOSS STREET		
COLUMBUS, MS 39704		
Engineer's Estimate	3,112,000.00	

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Base

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			
LEHN	MAN-ROBERTS	COMPANY	ALL	179,314.75	179,314.75
APAC	C- MISSISSIPPI,	INC		350,000.00	350,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		1,000,000.00	1,000,000.00
ENGI	NEER'S ESTIMA	ATE		142,222.00	142,222.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
LEHN	MAN-ROBERTS	COMPANY	ALL	29,182.05	29,182.05
APAC	C- MISSISSIPPI,	INC		80,000.00	80,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		10,000.00	10,000.00
ENGI	NEER'S ESTIMA	ATE		58,000.00	58,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
LEHN	MAN-ROBERTS	COMPANY	ALL	41,688.64	41,688.64
APAC	C- MISSISSIPPI,	INC		60,000.00	60,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		10,000.00	10,000.00
ENGI	NEER'S ESTIMA	ATE		84,000.00	84,000.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
LEHN	MAN-ROBERTS	COMPANY	700	8.00	5,600.00
APAC	C- MISSISSIPPI,	INC		8.16	5,712.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		6.00	4,200.00
ENGI	NEER'S ESTIMA	ATE		9.00	6,300.00
15706-1000	EACH	SOIL EROSION CONT	ROL, INLET PROTEC	CTION	
LEHN	MAN-ROBERTS	COMPANY	8	1,500.00	12,000.00
APAC	C- MISSISSIPPI,	INC		1,530.00	12,240.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		1,000.00	8,000.00
ENGI	NEER'S ESTIMA	ATE		245.00	1,960.00
20301-2400	EACH	REMOVAL OF SIGN			
LEHN	MAN-ROBERTS	COMPANY	3	100.00	300.00
APAC	C- MISSISSIPPI,	INC		178.50	535.50
PHIL	LIPS CONTRAC	TING COMPANY, INC		175.00	525.00
ENGI	NEER'S ESTIMA	ATE		42.00	126.00
20302-0500	LNFT	REMOVAL OF CURB,	CONCRETE		
LEHN	MAN-ROBERTS	COMPANY	215	50.00	10,750.00
APAC	C- MISSISSIPPI,	INC		25.00	5,375.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		18.50	3,977.50
ENGI	NEER'S ESTIMA	ATE		24.00	5,160.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Base

Project No.: PRA-NATR 3H23,J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20303-1600	SQYD	REMOVAL OF PAVEN	MENT, ASPHALT		
LEH	MAN-ROBERTS	COMPANY	990	11.57	11,454.30
APA	C- MISSISSIPPI,	INC		11.00	10,890.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		14.50	14,355.00
ENG	INEER'S ESTIMA	ATE		11.00	10,890.00
20303-3200	SQYD	REMOVAL OF SIDEW	ALK, CONCRETE		
LEH	MAN-ROBERTS	COMPANY	2	500.00	1,000.00
APA	C- MISSISSIPPI,	INC		51.00	102.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		550.00	1,100.00
ENG	INEER'S ESTIMA	ATE		81.00	162.00
20315-0000	LNFT	SAWCUTTING PAVEN	MENT		
LEH	MAN-ROBERTS	COMPANY	260	15.00	3,900.00
APA	C- MISSISSIPPI,	INC		15.00	3,900.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		15.00	3,900.00
ENG	INEER'S ESTIMA	ATE		9.00	2,340.00
20403-0000	CUYD	UNCLASSIFIED BORF	ROW		
LEH	MAN-ROBERTS	COMPANY	25	525.00	13,125.00
APA	C- MISSISSIPPI,	INC		200.00	5,000.00
		TING COMPANY, INC		100.00	2,500.00
ENG	INEER'S ESTIMA	ATE		140.00	3,500.00
30501-0000	TON	AGGREGATE-TOPSOI	L COURSE		
LEH	MAN-ROBERTS	COMPANY	6,700	45.67	305,989.00
APA	C- MISSISSIPPI,	INC		52.00	348,400.00
PHII	LIPS CONTRAC	TING COMPANY, INC		63.00	422,100.00
ENG	INEER'S ESTIM <i>A</i>	ATE		37.00	247,900.00
40101-0100	TON		ENT, 3/8-INCH NOMINA LLION ESAL , TYPE V		
LEH	MAN-ROBERTS		16,500	105.96	1,748,340.00
APA	C- MISSISSIPPI,	INC	•	115.00	1,897,500.00
		TING COMPANY, INC		118.00	1,947,000.00
ENG	INEER'S ESTIM <i>A</i>	ATE		107.00	1,765,500.00
40101-0900	TON		ENT, 3/4-INCH NOMINA LLION ESAL , FULL DI		Ξ
LEH	MAN-ROBERTS		1,000	108.46	108,460.00
	C- MISSISSIPPI,		,	130.00	130,000.00
		TING COMPANY, INC		135.00	135,000.00
	INEER'S ESTIMA			130.00	130,000.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Base

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
40101-0900) TON	SUPERPAVE PAVEMI AGGREGATE, <0.3 MI			
LI	EHMAN-ROBERTS CO	MPANY	130	221.32	28,771.60
A	PAC- MISSISSIPPI, INC	C		140.00	18,200.00
PI	HILLIPS CONTRACTIN	NG COMPANY, INC		140.00	18,200.00
Eì	NGINEER'S ESTIMATI	E		130.00	16,900.00
40102-0100) TON	SUPERPAVE PAVEMI AGGREGATE, <0.3 MI			
LI	EHMAN-ROBERTS CC	MPANY	1,500	108.05	162,075.00
A	PAC- MISSISSIPPI, INC	C		130.00	195,000.00
PI	HILLIPS CONTRACTIN	NG COMPANY, INC		130.00	195,000.00
Eì	NGINEER'S ESTIMATI	Ξ		120.00	180,000.00
41301-0000) SQYD	ASPHALT PAVEMEN	Γ MILLING		
LI	EHMAN-ROBERTS CC	MPANY	18,000	5.15	92,700.00
	PAC- MISSISSIPPI, INC		7,	5.00	90,000.00
	HILLIPS CONTRACTIN			5.50	99,000.00
	NGINEER'S ESTIMATI			9.00	162,000.00
41405-0000) LNFT	SAW CUTTING AND J	OINT SEALING		
	EHMAN-ROBERTS CC		470	15.00	7,050.00
	PAC- MISSISSIPPI, INC		., •	18.00	8,460.00
	HILLIPS CONTRACTIN			40.00	18,800.00
	NGINEER'S ESTIMATI			12.00	5,640.00
60103-0080) ЕАСН	CONCRETE, HEADWA	ALL FOR 15-INCH PIP	E CULVERT	
LI	EHMAN-ROBERTS CC		4	2,469.00	9,876.00
	PAC- MISSISSIPPI, INC			2,520.00	10,080.00
	HILLIPS CONTRACTIN			1,800.00	7,200.00
	NGINEER'S ESTIMATI			1,525.00	6,100.00
60201-0500) LNFT	15-INCH PIPE CULVE	RT		
LI	EHMAN-ROBERTS CC		110	60.00	6,600.00
	PAC- MISSISSIPPI, INC			51.00	5,610.00
	HILLIPS CONTRACTIN			75.00	8,250.00
	NGINEER'S ESTIMATI			65.00	7,150.00
60403-1200) EACH	INLET, TYPE 5A			
LI	EHMAN-ROBERTS CC		3	2,578.00	7,734.00
	PAC- MISSISSIPPI, INC			2,650.00	7,950.00
	HILLIPS CONTRACTIN			7,000.00	21,000.00
	NGINEER'S ESTIMATI			2,625.00	7,875.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Base

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60403-1300	EACH	INLET, TYPE 5A MOD	IFIED		
LEHN	MAN-ROBERTS C	OMPANY	4	3,230.00	12,920.00
APAC	C- MISSISSIPPI, IN	NC		3,300.00	13,200.00
PHILI	LIPS CONTRACT	ING COMPANY, INC		10,000.00	40,000.00
ENGI	NEER'S ESTIMAT	ΓΕ		2,800.00	11,200.00
60801-0400	SQYD	PAVED WATERWAY,	TYPE 4		
LEHN	MAN-ROBERTS C	OMPANY	20	115.00	2,300.00
APAC	C- MISSISSIPPI, IN	NC		118.00	2,360.00
PHILI	LIPS CONTRACT	ING COMPANY, INC		150.00	3,000.00
ENGI	NEER'S ESTIMAT	ГЕ		100.00	2,000.00
60901-1700	LNFT	CURB, CONCRETE, 18	-INCH DEPTH		
LEHN	MAN-ROBERTS C		220	58.00	12,760.00
APAC	C- MISSISSIPPI, IN	NC		59.20	13,024.00
		ING COMPANY, INC		38.00	8,360.00
	NEER'S ESTIMAT			29.00	6,380.00
61501-0100	SQYD	SIDEWALK, CONCRE	ГЕ		
	MAN-ROBERTS C	· ·	10	80.00	800.00
	C- MISSISSIPPI, IN			82.00	820.00
		ING COMPANY, INC		50.00	500.00
	NEER'S ESTIMAT			60.00	600.00
62403-0000	CUYD	FURNISHING AND PL	ACING TOPSOIL		
LEHN	MAN-ROBERTS C	OMPANY	10	525.00	5,250.00
APAC	C- MISSISSIPPI, IN	NC		263.00	2,630.00
		ING COMPANY, INC		100.00	1,000.00
	NEER'S ESTIMAT			70.00	700.00
62501-0000	ACRE	TURF ESTABLISHME	NT		
LEHN	MAN-ROBERTS C		21.0	1,750.00	36,750.00
	C- MISSISSIPPI, IN			1,785.00	37,485.00
		ING COMPANY, INC		1,750.00	36,750.00
	NEER'S ESTIMAT	· · · · · · · · · · · · · · · · · · ·		1,950.00	40,950.00
63304-0900	SQFT	SIGNS, ALUMINUM P.	ANELS, TYPE 3 SHEE	TING	
	MAN-ROBERTS C	· · · · · · · · · · · · · · · · · · ·	155	75.00	11,625.00
	C- MISSISSIPPI, IN		- -	40.80	6,324.00
		ING COMPANY, INC		40.00	6,200.00
	NEER'S ESTIMAT			33.00	5,115.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Base

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63308-3000	EACH	OBJECT MARKER, TY	PE 3		
LEHN	MAN-ROBERTS (COMPANY	32	70.00	2,240.00
APAC	C- MISSISSIPPI, I	NC		142.80	4,569.60
PHIL	LIPS CONTRACT	TING COMPANY, INC		140.00	4,480.00
ENGI	NEER'S ESTIMA	TE		40.00	1,280.00
63401-1500	LNFT	PAVEMENT MARKING	GS, TYPE H, SOLID		
LEHN	MAN-ROBERTS (COMPANY	228,000	0.32	72,960.00
APAC	C- MISSISSIPPI, I	NC		0.33	75,240.00
PHIL	LIPS CONTRACT	TING COMPANY, INC		0.32	72,960.00
ENGI	NEER'S ESTIMA	TE		0.20	45,600.00
63401-1500	LNFT	PAVEMENT MARKING	GS, TYPE H, SOLID , I	OURABLE	
LEHN	MAN-ROBERTS (COMPANY	13,400	3.30	44,220.00
APAC	C- MISSISSIPPI, I	NC		3.37	45,158.00
PHIL	LIPS CONTRACT	TING COMPANY, INC		3.30	44,220.00
ENGI	NEER'S ESTIMA	TE		1.00	13,400.00
63401-1600	LNFT	PAVEMENT MARKING	GS, TYPE H, BROKEN		
LEHN	MAN-ROBERTS (31,500	0.15	4,725.00
APAC	C- MISSISSIPPI, I	NC	•	0.15	4,725.00
PHIL	LIPS CONTRACT	TING COMPANY, INC		0.15	4,725.00
ENGI	NEER'S ESTIMA	TE		0.10	3,150.00
63405-3250	EACH	PAVEMENT MARKING	GS, TYPE H, ACCESSI	BILITY SYMBOL	
LEHN	MAN-ROBERTS (COMPANY	1	400.00	400.00
APAC	C- MISSISSIPPI, I	NC		408.00	408.00
PHIL	LIPS CONTRACT	TING COMPANY, INC		400.00	400.00
ENGI	NEER'S ESTIMA	TE		350.00	350.00
63406-0200	EACH	RAISED PAVEMENT N	MARKER TYPE B		
LEHN	MAN-ROBERTS (55	8.00	440.00
	C- MISSISSIPPI, I			8.16	448.80
	· ·	TING COMPANY, INC		8.00	440.00
	NEER'S ESTIMA			10.00	550.00
63501-0000	LPSM	TEMPORARY TRAFFI	C CONTROL		
LEHN	MAN-ROBERTS (COMPANY	ALL	59,445.00	59,445.00
	C- MISSISSIPPI, I			35,000.00	35,000.00
		TING COMPANY, INC		18,620.00	18,620.00
	NEER'S ESTIMA			67,000.00	67,000.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Base

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63502-2000	EACH	TEMPORARY TRAFF SIGN (VARIABLE ME	TIC CONTROL, PORTAL ESSAGE BOARD)	BLE CHANGEABLE N	MESSAGE
LEHM	IAN-ROBERTS	COMPANY	2	11,865.63	23,731.26
APAC	- MISSISSIPPI,	INC		18,000.00	36,000.00
PHILL	LIPS CONTRAC	TING COMPANY, INC		25,000.00	50,000.00
ENGI	NEER'S ESTIMA	ATE		15,500.00	31,000.00
63701-0000	EACH	FIELD OFFICE			
LEHM	IAN-ROBERTS	COMPANY	1	32,432.72	32,432.72
APAC- MISSISSIPPI, INC			10,000.00	10,000.00	
PHILLIPS CONTRACTING COMPANY, INC			50,000.00	50,000.00	
ENGI	NEER'S ESTIMA	ATE		39,000.00	39,000.00

Bid Schedule - Base

Project No.: PRA-NATR 3H23, J10

Project Name: NATCHEZ TRACE PARKWAY - MP 181 TO MP 195

BID TOTAL CHECK PASS

Date: 06/15/11

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
LEHMAN-ROBERTS COMPANY	3,108,909.32	3,108,909.32	
APAC- MISSISSIPPI, INC	3,532,346.90	3,532,346.90	
PHILLIPS CONTRACTING COMPANY, INC	4,271,762.50	4,271,762.50	

The apparent low bidder is 0% above the engineer's estimate.

Bid Schedule - Base

Project No.: PRA-NATR 3H23, J10

Project Name: NATCHEZ TRACE PARKWAY - MP 181 TO MP 195

BID ITEM CHECK PASS

Date: 06/15/11

Bidder	Item No.	Bidder's Extension	Computed Extension
		2.1141101011	2.1141101011

No extension errors in this Schedule.

Bid Schedule - Option A

Project No.: PRA-NATR 3H23,J10

Project Name: NATCHEZ TRACE PARKWAY - JEFF BUSBY PARK

State: MS Opened at: Sterling, VA
County: CHOCTAW By: Shirley Anderson

NATCHEZ TRACE PARKWAY Date: 06/15/11

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Raymond H Delpesche

Title: Procurement Technician Date: 06/15/2011

Contract Awarded to: Lehman-Roberts Company Date: 07/07/2011

Contractor	Bid Amount	Responsive
LEHMAN-ROBERTS COMPANY	463,140.38	
P.O. BOX 1603		
1111 WILSON ST		
MEMPHIS, TN 38101		
APAC- MISSISSIPPI, INC	477,508.80	
5725 HWY 18		
JACKSON, MS 39209		
PHILLIPS CONTRACTING COMPANY, INC	558,994.00	
P.O. BOX 2069		
1500 MOSS STREET		
COLUMBUS, MS 39704		
Engineer's Estimate	485,000.00	

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Option A

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			_
LEHN	MAN-ROBERTS	COMPANY	ALL	59,118.00	59,118.00
APAC	APAC- MISSISSIPPI, INC			40,000.00	40,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		90,000.00	90,000.00
ENGI	NEER'S ESTIMA	ATE		32,305.00	32,305.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
LEHN	MAN-ROBERTS	COMPANY	ALL	4,168.86	4,168.86
APAC	C- MISSISSIPPI,	INC		6,000.00	6,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		5,000.00	5,000.00
ENGI	NEER'S ESTIMA	ATE		21,000.00	21,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
LEHN	MAN-ROBERTS	COMPANY	ALL	7,295.51	7,295.51
APAC	C- MISSISSIPPI,	INC		12,000.00	12,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		3,000.00	3,000.00
ENGI	NEER'S ESTIMA	ATE		18,000.00	18,000.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
LEHN	MAN-ROBERTS		100	10.00	1,000.00
	C- MISSISSIPPI,			10.20	1,020.00
		TING COMPANY, INC		6.00	600.00
	NEER'S ESTIMA			5.00	500.00
15706-1000	EACH	SOIL EROSION CONT	ROL, INLET PROTECT	ΓΙΟΝ	
LEHN	MAN-ROBERTS	COMPANY	1	1,500.00	1,500.00
APAC	C- MISSISSIPPI,	INC		1,530.00	1,530.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		1,000.00	1,000.00
ENGI	NEER'S ESTIMA	ATE		250.00	250.00
25101-2000	CUYD	PLACED RIPRAP, CLA	.SS 2		
LEHN	MAN-ROBERTS		8	375.00	3,000.00
	C- MISSISSIPPI,			382.50	3,060.00
		TING COMPANY, INC		500.00	4,000.00
	NEER'S ESTIMA			250.00	2,000.00
30501-0000	TON	AGGREGATE-TOPSOI	L COURSE		
LEHN	MAN-ROBERTS		900	54.86	49,374.00
	C- MISSISSIPPI,			60.00	54,000.00
		TING COMPANY, INC		63.00	56,700.00
	NEER'S ESTIMA	· · · · · · · · · · · · · · · · · · ·		37.00	33,300.00

Date: 06/15/11

Bid Schedule - Option A

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
40101-0100	TON	SUPERPAVE PAVEME AGGREGATE, <0.3 MI			
LEH	MAN-ROBERTS		2,000	118.67	237,340.00
APA	C- MISSISSIPPI, I	INC	,	125.00	250,000.00
		ΓING COMPANY, INC		130.00	260,000.00
	INEER'S ESTIMA			107.00	214,000.00
40102-0100	TON	SUPERPAVE PAVEME AGGREGATE, <0.3 MI			
LEH	MAN-ROBERTS	COMPANY	130	157.22	20,438.60
APA	C- MISSISSIPPI, I	INC		130.00	16,900.00
PHIL	LIPS CONTRAC	ΓING COMPANY, INC		150.00	19,500.00
ENG	INEER'S ESTIMA	ATE		125.00	16,250.00
41301-0000	SQYD	ASPHALT PAVEMENT	MILLING		
LEH	MAN-ROBERTS	COMPANY	3,000	8.95	26,850.00
APA	C- MISSISSIPPI, I	INC		8.50	25,500.00
PHIL	LIPS CONTRAC	ΓING COMPANY, INC		10.00	30,000.00
ENG	INEER'S ESTIMA	ATE		9.00	27,000.00
60103-0080	EACH	CONCRETE, HEADWA	ALL FOR 15-INCH PIP	E CULVERT	
LEH	MAN-ROBERTS	COMPANY	1	2,969.00	2,969.00
APA	C- MISSISSIPPI, 1	INC		3,050.00	3,050.00
PHIL	LIPS CONTRAC	ΓING COMPANY, INC		2,500.00	2,500.00
ENG	INEER'S ESTIMA	ATE		1,525.00	1,525.00
60201-0500	LNFT	15-INCH PIPE CULVER	RT		
LEH	MAN-ROBERTS	COMPANY	20	60.00	1,200.00
APA	C- MISSISSIPPI, I	INC		51.00	1,020.00
PHIL	LIPS CONTRAC	ΓING COMPANY, INC		145.00	2,900.00
ENG	INEER'S ESTIMA	ATE		70.00	1,400.00
60403-1200	EACH	INLET, TYPE 5A			
LEH	MAN-ROBERTS	COMPANY	1	3,078.00	3,078.00
APA	C- MISSISSIPPI, I	INC		3,140.00	3,140.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		7,000.00	7,000.00
ENG	INEER'S ESTIMA	ATE		3,700.00	3,700.00
61501-0100	SQYD	SIDEWALK, CONCRET	ГЕ		
LEH	MAN-ROBERTS	COMPANY	10	115.00	1,150.00
APA	C- MISSISSIPPI, 1	INC		118.00	1,180.00
PHIL	LIPS CONTRAC	ΓING COMPANY, INC		50.00	500.00
ENG	INEER'S ESTIMA	ATE		60.00	600.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Option A

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
62403-0000	CUYD	FURNISHING AND PL	ACING TOPSOIL		
LEHN	MAN-ROBERTS	COMPANY	200	65.00	13,000.00
APAC	C- MISSISSIPPI,	INC		66.50	13,300.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		50.00	10,000.00
ENGI	NEER'S ESTIMA	ATE		40.00	8,000.00
62501-0000	ACRE	TURF ESTABLISHMEN	NT		
LEHN	MAN-ROBERTS	COMPANY	3.0	1,750.00	5,250.00
APAC	C- MISSISSIPPI,	INC		1,785.00	5,355.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		1,750.00	5,250.00
ENGI	NEER'S ESTIMA	ATE		2,850.00	8,550.00
62701-0000	SQYD	SOD			
LEHN	MAN-ROBERTS	COMPANY	1,600	4.00	6,400.00
APAC	C- MISSISSIPPI,	INC	,	4.08	6,528.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		4.00	6,400.00
	NEER'S ESTIMA			13.00	20,800.00
63304-0900	SQFT	SIGNS, ALUMINUM PA	ANELS. TYPE 3 SHEET	ΓING	
LEHN	MAN-ROBERTS		10	75.00	750.00
	C- MISSISSIPPI,			102.00	1,020.00
		TING COMPANY, INC		100.00	1,000.00
	NEER'S ESTIMA			37.00	370.00
63401-1500	LNFT	PAVEMENT MARKING	GS, TYPE H, SOLID		
LEHN	MAN-ROBERTS	COMPANY	1,700	0.32	544.00
APAC	C- MISSISSIPPI,	INC	•	0.33	561.00
		TING COMPANY, INC		0.32	544.00
	NEER'S ESTIMA			0.20	340.00
63401-1600	LNFT	PAVEMENT MARKING	GS. TYPE H. BROKEN		
LEHN	MAN-ROBERTS		400	0.15	60.00
	C- MISSISSIPPI,			0.15	60.00
		TING COMPANY, INC		0.15	60.00
	NEER'S ESTIMA			0.15	60.00
63405-3250	EACH	PAVEMENT MARKING	GS, TYPE H, ACCESSI	BILITY SYMBOL	
	MAN-ROBERTS		5	400.00	2,000.00
	C- MISSISSIPPI,		-	408.00	2,040.00
		TING COMPANY, INC		400.00	2,000.00
	NEER'S ESTIMA	· · · · · · · · · · · · · · · · · · ·		350.00	1,750.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Option A

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63406-0200	EACH	RAISED PAVEMENT	MARKER TYPE B		
LEHN	MAN-ROBERTS	COMPANY	30	8.00	240.00
APAC	C- MISSISSIPPI, I	INC		8.16	244.80
PHILI	LIPS CONTRAC	ΓING COMPANY, INC		8.00	240.00
ENGI	NEER'S ESTIMA	TE		10.00	300.00
63501-0000	LPSM	TEMPORARY TRAFF	IC CONTROL		
LEHN	MAN-ROBERTS	COMPANY	ALL	11,800.00	11,800.00
APAC	C- MISSISSIPPI, I	INC		25,000.00	25,000.00
PHILI	LIPS CONTRAC	ΓING COMPANY, INC		800.00	800.00
ENGI	NEER'S ESTIMA	TE		36,000.00	36,000.00
63701-0000	EACH	FIELD OFFICE			
LEHN	MAN-ROBERTS	COMPANY	1	4,614.41	4,614.41
APAC	- MISSISSIPPI, I	INC		5,000.00	5,000.00
PHILI	LIPS CONTRAC	ΓING COMPANY, INC		50,000.00	50,000.00
ENGI	NEER'S ESTIMA	TE		37,000.00	37,000.00

Bid Schedule - Option A

Project No.: PRA-NATR 3H23, J10

Project Name: NATCHEZ TRACE PARKWAY - JEFF BUSBY PARK

BID TOTAL CHECK PASS

Date: 06/15/11

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
LEHMAN-ROBERTS COMPANY	463,140.38	463,140.38	
APAC- MISSISSIPPI, INC	477,508.80	477,508.80	
PHILLIPS CONTRACTING COMPANY, INC	558,994.00	558,994.00	

The apparent low bidder is 5 % below the engineer's estimate.

Bid Schedule - Option A

Project No.: PRA-NATR 3H23, J10

Project Name: NATCHEZ TRACE PARKWAY - JEFF BUSBY PARK

BID ITEM CHECK PASS

Date: 06/15/11

Bidder	Item No.	Bidder's Extension	Computed Extension
--------	----------	-----------------------	--------------------

No extension errors in this Schedule.

Bid Schedule - Option B

Project No.: PRA-NATR 3H23,J10

Project Name: NATCHEZ TRACE PARKWAY - MP 195 TO MP 200

State: MS Opened at: Sterling, VA
County: CHOCTAW By: Shirley Anderson

NATCHEZ TRACE PARKWAY Date: 06/15/11

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Raymond H Delpesche

Title: Procurement Technician Date: 06/15/2011

Contract Awarded to: Lehman-Roberts Company Date: 07/07/2011

Contractor	Bid Amount	Responsive
LEHMAN-ROBERTS COMPANY	1,151,683.55	
P.O. BOX 1603		
1111 WILSON ST		
MEMPHIS, TN 38101		
APAC- MISSISSIPPI, INC	1,244,188.40	
5725 HWY 18		
JACKSON, MS 39209		
PHILLIPS CONTRACTING COMPANY, INC	1,351,994.00	
P.O. BOX 2069		
1500 MOSS STREET		
COLUMBUS, MS 39704		
Engineer's Estimate	1,170,000.00	

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Option B

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			_
LEHN	MAN-ROBERTS	COMPANY	ALL	52,418.00	52,418.00
APAC	C- MISSISSIPPI,	INC		115,000.00	115,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		135,000.00	135,000.00
ENGI	NEER'S ESTIMA	ATE		47,510.00	47,510.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
LEHN	MAN-ROBERTS	COMPANY	ALL	10,422.16	10,422.16
APAC	C- MISSISSIPPI,	INC		20,000.00	20,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		10,000.00	10,000.00
ENGI	NEER'S ESTIMA	ATE		35,000.00	35,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
LEHN	MAN-ROBERTS	COMPANY	ALL	18,759.89	18,759.89
APAC	C- MISSISSIPPI,	INC		30,000.00	30,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		5,000.00	5,000.00
ENGI	NEER'S ESTIMA	ATE		32,000.00	32,000.00
15705-0100	LNFT	SOIL EROSION CONTI	ROL, SILT FENCE		
LEHN	MAN-ROBERTS	COMPANY	250	10.00	2,500.00
APAC	C- MISSISSIPPI,	INC		10.00	2,500.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		6.00	1,500.00
ENGI	NEER'S ESTIMA	ATE		9.00	2,250.00
15706-1000	EACH	SOIL EROSION CONTI	ROL, INLET PROTEC	ΓΙΟΝ	
LEHN	MAN-ROBERTS	COMPANY	10	1,500.00	15,000.00
APAC	C- MISSISSIPPI,	INC		1,500.00	15,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		1,000.00	10,000.00
ENGI	NEER'S ESTIMA	ATE		250.00	2,500.00
20403-0000	CUYD	UNCLASSIFIED BORR	OW		
LEHN	MAN-ROBERTS	COMPANY	30	525.00	15,750.00
APAC	C- MISSISSIPPI,	INC		174.68	5,240.40
PHIL	LIPS CONTRAC	TING COMPANY, INC		100.00	3,000.00
ENGI	NEER'S ESTIMA	ATE		137.00	4,110.00
30501-0000	TON	AGGREGATE-TOPSOI	L COURSE		
LEHN	MAN-ROBERTS	COMPANY	2,400	48.02	115,248.00
APAC	C- MISSISSIPPI,	INC	•	52.00	124,800.00
		TING COMPANY, INC		63.00	151,200.00
ENGI	NEER'S ESTIMA	ATE		37.00	88,800.00

Date: 06/15/11

Bid Schedule - Option B

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
40101-0100	TON	SUPERPAVE PAVEMI	ENT, 3/8-INCH NOMIN		,
		AGGREGATE, <0.3 MI	ILLION ESAL , TYPE V	PAVEMENT ROUG	HNESS
LEHM	IAN-ROBERTS	COMPANY	5,800	109.58	635,564.00
	C- MISSISSIPPI,			115.00	667,000.00
		TING COMPANY, INC		118.00	684,400.00
ENGI	NEER'S ESTIM <i>A</i>	ATE		111.00	643,800.00
40101-0900	TON	SUPERPAVE PAVEMI AGGREGATE, <0.3 MI			,
LEHM	MAN-ROBERTS	COMPANY	130	147.47	19,171.10
APAC	C- MISSISSIPPI,	INC		130.00	16,900.00
PHILI	LIPS CONTRAC	TING COMPANY, INC		135.00	17,550.00
ENGI	NEER'S ESTIM <i>A</i>	ATE		101.00	13,130.00
40102-0100	TON	SUPERPAVE PAVEMI AGGREGATE, <0.3 MI			
LEHM	IAN-ROBERTS		300	144.47	43,341.00
APAC	C- MISSISSIPPI,	INC		130.00	39,000.00
PHILI	LIPS CONTRAC	TING COMPANY, INC		130.00	39,000.00
ENGI	NEER'S ESTIM <i>A</i>	ATE		127.00	38,100.00
41301-0000	SQYD	ASPHALT PAVEMEN	Γ MILLING		
LEHM	IAN-ROBERTS	COMPANY	14,000	5.16	72,240.00
APAC	C- MISSISSIPPI,	INC		4.89	68,460.00
		TING COMPANY, INC		5.50	77,000.00
ENGI	NEER'S ESTIM <i>A</i>	ATE		8.00	112,000.00
41405-0000	LNFT	SAW CUTTING AND J	OINT SEALING		
LEHM	IAN-ROBERTS	COMPANY	350	15.00	5,250.00
	C- MISSISSIPPI,			25.50	8,925.00
		TING COMPANY, INC		45.00	15,750.00
ENGI	NEER'S ESTIM <i>A</i>	ATE		6.00	2,100.00
60103-0080	EACH	CONCRETE, HEADWA	ALL FOR 15-INCH PIPI	E CULVERT	
LEHM	IAN-ROBERTS	COMPANY	1	2,769.00	2,769.00
APAC	C- MISSISSIPPI,	INC		2,769.00	2,769.00
		TING COMPANY, INC		2,500.00	2,500.00
ENGI	NEER'S ESTIMA	ATE		1,600.00	1,600.00
60201-0500	LNFT	15-INCH PIPE CULVE	RT		
LEHM	MAN-ROBERTS	COMPANY	120	60.00	7,200.00
APAC	C- MISSISSIPPI,	INC		50.00	6,000.00
		TING COMPANY, INC		75.00	9,000.00
ENGI	NEER'S ESTIM <i>A</i>	ATE		70.00	8,400.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Option B

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60403-1300	EACH	INLET, TYPE 5A MOD	IFIED		
LEHN	MAN-ROBERTS (COMPANY	6	3,250.00	19,500.00
APAC	C- MISSISSIPPI, I	NC		3,250.00	19,500.00
PHILI	LIPS CONTRACT	TING COMPANY, INC		10,000.00	60,000.00
ENGI	NEER'S ESTIMA	TE		2,500.00	15,000.00
62501-0000	ACRE	TURF ESTABLISHMEN	NT		
LEHN	MAN-ROBERTS (COMPANY	8.0	1,750.00	14,000.00
APAC	C- MISSISSIPPI, I	NC		1,750.00	14,000.00
PHILI	LIPS CONTRACT	TING COMPANY, INC		1,750.00	14,000.00
ENGI	NEER'S ESTIMA	TE		1,950.00	15,600.00
63304-0900	SQFT	SIGNS, ALUMINUM PA	ANELS, TYPE 3 SHEE	TING	
LEHN	MAN-ROBERTS (COMPANY	55	75.00	4,125.00
APAC	C- MISSISSIPPI, I	NC		40.00	2,200.00
PHILI	LIPS CONTRACT	TING COMPANY, INC		40.00	2,200.00
ENGI	NEER'S ESTIMA	TE		40.00	2,200.00
63308-3000	EACH	OBJECT MARKER, TY	PE 3		
LEHN	MAN-ROBERTS (COMPANY	24	70.00	1,680.00
APAC	C- MISSISSIPPI, I	NC		140.00	3,360.00
PHILI	LIPS CONTRACT	TING COMPANY, INC		140.00	3,360.00
ENGI	NEER'S ESTIMA	TE		40.00	960.00
63401-1500	LNFT	PAVEMENT MARKING	GS, TYPE H, SOLID		
LEHN	MAN-ROBERTS (COMPANY	55,100	0.32	17,632.00
APAC	C- MISSISSIPPI, I	NC		0.32	17,632.00
PHIL	LIPS CONTRACT	TING COMPANY, INC		0.32	17,632.00
ENGI	NEER'S ESTIMA	TE		0.20	11,020.00
63401-1500	LNFT	PAVEMENT MARKING	GS, TYPE H, SOLID , I	OURABLE	
LEHN	MAN-ROBERTS (10,240	3.30	33,792.00
	C- MISSISSIPPI, I		,	3.30	33,792.00
		ΓING COMPANY, INC		3.30	33,792.00
	NEER'S ESTIMA			1.00	10,240.00
63401-1600	LNFT	PAVEMENT MARKING	GS, TYPE H, BROKEN		
LEHN	MAN-ROBERTS (22,200	0.15	3,330.00
	C- MISSISSIPPI, I		,	0.15	3,330.00
		TING COMPANY, INC		0.15	3,330.00
	NEER'S ESTIMA			0.15	3,330.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Option B

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63406-0200	EACH	RAISED PAVEMENT	MARKER TYPE B		
LEH	MAN-ROBERTS C	COMPANY	35	8.00	280.00
APA	C- MISSISSIPPI, II	NC		8.00	280.00
PHIL	LIPS CONTRACT	ING COMPANY, INC		8.00	280.00
ENG	INEER'S ESTIMA	ГЕ		10.00	350.00
63501-0000	LPSM	TEMPORARY TRAFF	IC CONTROL		
LEH	MAN-ROBERTS C	COMPANY	ALL	28,000.00	28,000.00
APA	C- MISSISSIPPI, II	NC		20,000.00	20,000.00
PHIL	LIPS CONTRACT	ING COMPANY, INC		6,500.00	6,500.00
ENG	INEER'S ESTIMA	ГЕ		57,000.00	57,000.00
63701-0000	EACH	FIELD OFFICE			
LEH	MAN-ROBERTS C	COMPANY	1	13,711.40	13,711.40
APA	C- MISSISSIPPI, II	NC		8,500.00	8,500.00
PHIL	LIPS CONTRACT	ING COMPANY, INC		50,000.00	50,000.00
	INEER'S ESTIMA			23,000.00	23,000.00

BIDS Date: 06/15/11

Bid Schedule - Option B

Project No.: PRA-NATR 3H23, J10

Project Name: NATCHEZ TRACE PARKWAY - MP 195 TO MP 200

BID TOTAL CHECK PASS

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
LEHMAN-ROBERTS COMPANY	1,151,683.55	1,151,683.55	
APAC- MISSISSIPPI, INC	1,244,188.40	1,244,188.40	
PHILLIPS CONTRACTING COMPANY, INC	1,351,994.00	1,351,994.00	

The apparent low bidder is 2 % below the engineer's estimate.

Bid Schedule - Option B

Project No.: PRA-NATR 3H23, J10

Project Name: NATCHEZ TRACE PARKWAY - MP 195 TO MP 200

BID ITEM CHECK PASS

Date: 06/15/11

No extension errors in this Schedule.

Bid Schedule - Option C

Project No.: PRA-NATR 3H23,J10

Project Name: NATCHEZ TRACE PARKWAY - MP 200 TO MP 204

State: MS Opened at: Sterling, VA
County: CHOCTAW By: Shirley Anderson

NATCHEZ TRACE PARKWAY Date: 06/15/11

I certify that this Bid Tabulation accurately reflects the bids received and publicly opened for this solicitation.

Signed: Raymond H Delpesche

Title: Procurement Technician Date: 06/15/2011

Contract Awarded to: Lehman-Roberts Company Date: 07/07/2011

Contractor	Bid Amount	Responsive
LEHMAN-ROBERTS COMPANY	961,283.39	
P.O. BOX 1603		
1111 WILSON ST		
MEMPHIS, TN 38101		
APAC- MISSISSIPPI, INC	1,047,260.67	
5725 HWY 18		
JACKSON, MS 39209		
PHILLIPS CONTRACTING COMPANY, INC	1,152,222.00	
P.O. BOX 2069		
1500 MOSS STREET		
COLUMBUS, MS 39704		
Engineer's Estimate	1,053,000.00	

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Option C

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
15101-0000	LPSM	MOBILIZATION			_
LEHN	MAN-ROBERTS	COMPANY	ALL	43,010.00	43,010.00
APAC	C- MISSISSIPPI,	INC		100,000.00	100,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		130,000.00	130,000.00
ENGI	NEER'S ESTIMA	ATE		79,815.00	79,815.00
15201-0000	LPSM	CONSTRUCTION SUR	VEY AND STAKING		
LEHN	MAN-ROBERTS	COMPANY	ALL	8,337.73	8,337.73
APAC	C- MISSISSIPPI,	INC		18,000.00	18,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		12,000.00	12,000.00
ENGI	NEER'S ESTIMA	ATE		25,000.00	25,000.00
15401-0000	LPSM	CONTRACTOR TESTI	NG		
LEHN	MAN-ROBERTS	COMPANY	ALL	17,717.67	17,717.67
APAC	C- MISSISSIPPI,	INC		27,000.00	27,000.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		7,500.00	7,500.00
ENGI	NEER'S ESTIMA	ATE		21,000.00	21,000.00
15705-0100	LNFT	SOIL EROSION CONT	ROL, SILT FENCE		
LEHN	MAN-ROBERTS		200	10.00	2,000.00
APAC	C- MISSISSIPPI,	INC		10.20	2,040.00
		TING COMPANY, INC		6.00	1,200.00
ENGI	NEER'S ESTIMA	ATE		9.00	1,800.00
15706-1000	EACH	SOIL EROSION CONT	ROL, INLET PROTEC	ΓΙΟΝ	
LEHN	MAN-ROBERTS	COMPANY	5	1,500.00	7,500.00
APAC	C- MISSISSIPPI,	INC		1,530.00	7,650.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		1,000.00	5,000.00
ENGI	NEER'S ESTIMA	ATE		250.00	1,250.00
20301-2400	EACH	REMOVAL OF SIGN			
LEHN	MAN-ROBERTS	COMPANY	1	100.00	100.00
	C- MISSISSIPPI,			178.50	178.50
		TING COMPANY, INC		175.00	175.00
	NEER'S ESTIMA			45.00	45.00
20302-0500	LNFT	REMOVAL OF CURB,	CONCRETE		
LEHN	MAN-ROBERTS	·	10	50.00	500.00
	C- MISSISSIPPI,			15.30	153.00
		TING COMPANY, INC		125.00	1,250.00
	NEER'S ESTIMA			35.00	350.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Option C

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
20303-3200	SQYD	REMOVAL OF SIDEW	ALK, CONCRETE		
LEHM	AN-ROBERTS	COMPANY	2	500.00	1,000.00
APAC	- MISSISSIPPI, I	NC		51.00	102.00
PHILL	IPS CONTRACT	ΓING COMPANY, INC		550.00	1,100.00
ENGIN	NEER'S ESTIMA	TE		40.00	80.00
20315-0000	LNFT	SAWCUTTING PAVEN	MENT		
LEHM	AN-ROBERTS	COMPANY	25	25.00	625.00
APAC	- MISSISSIPPI, I	NC		25.27	631.75
PHILL	IPS CONTRACT	ΓING COMPANY, INC		50.00	1,250.00
ENGIN	NEER'S ESTIMA	TE		13.00	325.00
20403-0000	CUYD	UNCLASSIFIED BORF	ROW		
LEHM	AN-ROBERTS	COMPANY	200	50.00	10,000.00
APAC	- MISSISSIPPI, I	NC		51.00	10,200.00
PHILL	IPS CONTRACT	ΓING COMPANY, INC		100.00	20,000.00
ENGIN	NEER'S ESTIMA	ТЕ		140.00	28,000.00
30501-0000	TON	AGGREGATE-TOPSOI	L COURSE		
LEHM	AN-ROBERTS	COMPANY	1,900	48.77	92,663.00
APAC	- MISSISSIPPI, I	NC		52.00	98,800.00
PHILL	IPS CONTRACT	ΓING COMPANY, INC		63.00	119,700.00
ENGIN	NEER'S ESTIMA	TE		37.00	70,300.00
40101-0100	TON		ENT, 3/8-INCH NOMINA LLION ESAL , TYPE V		
LEHM	AN-ROBERTS		4,500	108.62	488,790.00
	- MISSISSIPPI, I		,	115.00	517,500.00
PHILL	IPS CONTRACT	ΓING COMPANY, INC		118.00	531,000.00
ENGIN	NEER'S ESTIMA	TE		116.00	522,000.00
40101-0900	TON		ENT, 3/4-INCH NOMINA LLION ESAL , FULL DI		
LEHM	AN-ROBERTS (140	146.33	20,486.20
APAC	- MISSISSIPPI, I	NC		130.00	18,200.00
		ΓING COMPANY, INC		135.00	18,900.00
ENGIN	NEER'S ESTIMA	TE		101.00	14,140.00
40101-0900	TON		ENT, 3/4-INCH NOMINA LLION ESAL , WIDENI		
LEHM	AN-ROBERTS		60	359.03	21,541.80
	- MISSISSIPPI, I			140.00	8,400.00
		ΓING COMPANY, INC		140.00	8,400.00
	NEER'S ESTIMA			101.00	6,060.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Option C

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
40102-0100	TON		ENT, 3/8-INCH NOMIN ILLION ESAL, WEDGI		OURSE
LEHN	MAN-ROBERTS		500	120.84	60,420.00
APAC	C- MISSISSIPPI,	INC		130.00	65,000.00
PHILI	LIPS CONTRAC	TING COMPANY, INC		130.00	65,000.00
ENGI	NEER'S ESTIMA	ATE		127.00	63,500.00
41301-0000	SQYD	ASPHALT PAVEMEN	T MILLING		
LEHN	MAN-ROBERTS	COMPANY	8,000	4.99	39,920.00
APAC	C- MISSISSIPPI,	INC		5.13	41,040.00
PHILI	LIPS CONTRAC	TING COMPANY, INC		5.50	44,000.00
ENGI	NEER'S ESTIMA	ATE		9.00	72,000.00
41405-0000	LNFT	SAW CUTTING AND	JOINT SEALING		
LEHN	IAN-ROBERTS	COMPANY	240	15.00	3,600.00
APAC	- MISSISSIPPI,	INC		36.01	8,642.40
PHILI	LIPS CONTRAC	TING COMPANY, INC		60.00	14,400.00
ENGI	NEER'S ESTIMA	ATE		6.00	1,440.00
60103-0080	EACH	CONCRETE, HEADW.	ALL FOR 15-INCH PIP	E CULVERT	
LEHN	IAN-ROBERTS	COMPANY	3	2,569.00	7,707.00
APAC	C- MISSISSIPPI,	INC		2,620.38	7,861.14
PHILI	LIPS CONTRAC	TING COMPANY, INC		2,500.00	7,500.00
ENGI	NEER'S ESTIMA	ATE		1,600.00	4,800.00
60201-0500	LNFT	15-INCH PIPE CULVE	RT		
LEHN	IAN-ROBERTS	COMPANY	100	60.00	6,000.00
APAC	C- MISSISSIPPI,	INC		51.00	5,100.00
PHILI	LIPS CONTRAC	TING COMPANY, INC		80.00	8,000.00
ENGI	NEER'S ESTIMA	ATE		70.00	7,000.00
60403-1200	EACH	INLET, TYPE 5A			
LEHN	IAN-ROBERTS	COMPANY	2	2,681.00	5,362.00
APAC	C- MISSISSIPPI,	INC		2,734.62	5,469.24
PHILI	LIPS CONTRAC	TING COMPANY, INC		7,000.00	14,000.00
ENGI	NEER'S ESTIMA	ATE		3,700.00	7,400.00
60403-1300	EACH	INLET, TYPE 5A MOI	DIFIED		
LEHN	MAN-ROBERTS	COMPANY	2	3,230.00	6,460.00
APAC	C- MISSISSIPPI,	INC		3,315.00	6,630.00
PHILI	LIPS CONTRAC	TING COMPANY, INC		10,000.00	20,000.00
ENGI	NEER'S ESTIMA	ATE		2,500.00	5,000.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Option C

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
60901-1700	LNFT	CURB, CONCRETE, 18	-INCH DEPTH		
LEHN	MAN-ROBERTS (COMPANY	110	65.00	7,150.00
APAC	C- MISSISSIPPI, I	NC		66.30	7,293.00
PHILI	LIPS CONTRACT	TING COMPANY, INC		47.00	5,170.00
ENGI	NEER'S ESTIMA	TE		33.00	3,630.00
61501-0100	SQYD	SIDEWALK, CONCRE	ГЕ		
LEHN	MAN-ROBERTS (COMPANY	10	80.00	800.00
APAC	C- MISSISSIPPI, I	NC		81.60	816.00
PHILI	LIPS CONTRACT	TING COMPANY, INC		50.00	500.00
ENGI	NEER'S ESTIMA	TE		60.00	600.00
61504-1000	SQYD	ACCESSIBILITY RAM	P, CONCRETE		
LEHN	MAN-ROBERTS (COMPANY	8	150.00	1,200.00
APAC	C- MISSISSIPPI, I	NC		153.00	1,224.00
PHILI	LIPS CONTRACT	TING COMPANY, INC		500.00	4,000.00
ENGI	NEER'S ESTIMA	TE		80.00	640.00
62403-0000	CUYD	FURNISHING AND PL	ACING TOPSOIL		
LEHN	MAN-ROBERTS (COMPANY	10	65.00	650.00
APAC	C- MISSISSIPPI, I	NC		535.50	5,355.00
PHILI	LIPS CONTRACT	TING COMPANY, INC		100.00	1,000.00
ENGI	NEER'S ESTIMA	TE		70.00	700.00
62501-0000	ACRE	TURF ESTABLISHME	NT		
LEHN	MAN-ROBERTS (COMPANY	6.0	1,750.00	10,500.00
APAC	C- MISSISSIPPI, I	NC		1,785.00	10,710.00
PHIL	LIPS CONTRACT	TING COMPANY, INC		1,750.00	10,500.00
ENGI	NEER'S ESTIMA	TE		2,850.00	17,100.00
63304-0900	SQFT	SIGNS, ALUMINUM P.	ANELS, TYPE 3 SHEE	TING	
LEHN	MAN-ROBERTS (40	75.00	3,000.00
	- MISSISSIPPI, I			40.80	1,632.00
		TING COMPANY, INC		40.00	1,600.00
	NEER'S ESTIMA			33.00	1,320.00
63308-3000	EACH	OBJECT MARKER, TY	PE 3		
LEHN	MAN-ROBERTS (· · · · · · · · · · · · · · · · · · ·	16	70.00	1,120.00
	- MISSISSIPPI, I			142.80	2,284.80
		TING COMPANY, INC		140.00	2,240.00
	NEER'S ESTIMA			40.00	640.00

TABULATION OF BIDS

Date: 06/15/11

Bid Schedule - Option C

Project No.: PRA-NATR 3H23, J10

Item No.	Item Unit	Item Description	Quantity	Unit Price	Amount
63401-1500	LNFT	PAVEMENT MARKIN	IGS, TYPE H, SOLID		
LEHI	MAN-ROBERTS	COMPANY	53,000	0.32	16,960.00
APA	C- MISSISSIPPI,	INC		0.33	17,490.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		0.32	16,960.00
ENG	INEER'S ESTIMA	ATE		0.20	10,600.00
63401-1500	LNFT	PAVEMENT MARKIN	NGS, TYPE H, SOLID , E	OURABLE	
LEHI	MAN-ROBERTS	COMPANY	6,700	3.30	22,110.00
APA	C- MISSISSIPPI,	INC		3.37	22,579.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		3.30	22,110.00
ENG	INEER'S ESTIMA	ATE		1.00	6,700.00
63401-1600	LNFT	PAVEMENT MARKIN	NGS, TYPE H, BROKEN		
LEHI	MAN-ROBERTS	COMPANY	14,500	0.15	2,175.00
APA	C- MISSISSIPPI,	INC		0.15	2,175.00
PHIL	LIPS CONTRAC	TING COMPANY, INC		0.15	2,175.00
ENG	INEER'S ESTIMA	ATE		0.15	2,175.00
63405-3250	EACH	PAVEMENT MARKIN	NGS, TYPE H, ACCESSI	BILITY SYMBOL	
LEHI	MAN-ROBERTS		1	400.00	400.00
	C- MISSISSIPPI,			408.00	408.00
		TING COMPANY, INC		400.00	400.00
	INEER'S ESTIMA			350.00	350.00
63406-0200	EACH	RAISED PAVEMENT	MARKER TYPE B		
LEHI	MAN-ROBERTS	COMPANY	24	8.00	192.00
APA	C- MISSISSIPPI,	INC		8.16	195.84
PHIL	LIPS CONTRAC	TING COMPANY, INC		8.00	192.00
ENG	INEER'S ESTIMA	ATE		10.00	240.00
63501-0000	LPSM	TEMPORARY TRAFF	TIC CONTROL		
	LPSM MAN-ROBERTS	TEMPORARY TRAFF		26,500,00	26.500.00
LEHI	MAN-ROBERTS	COMPANY	IC CONTROL ALL	26,500.00 18,000.00	26,500.00 18,000.00
APA	MAN-ROBERTS C- MISSISSIPPI,	COMPANY INC		18,000.00	18,000.00
LEHI APA PHIL	MAN-ROBERTS C- MISSISSIPPI,	COMPANY INC TING COMPANY, INC			*
LEHI APA PHIL	MAN-ROBERTS C- MISSISSIPPI, LIPS CONTRAC	COMPANY INC TING COMPANY, INC		18,000.00 5,000.00	18,000.00 5,000.00
LEHI APA(PHIL ENG 63701-0000	MAN-ROBERTS C- MISSISSIPPI, LIPS CONTRAC INEER'S ESTIMA	COMPANY INC TING COMPANY, INC ATE FIELD OFFICE		18,000.00 5,000.00 47,000.00	18,000.00 5,000.00 47,000.00
LEHI APAO PHIL ENG 63701-0000 LEHI	MAN-ROBERTS C- MISSISSIPPI, LIPS CONTRAC INEER'S ESTIMA EACH MAN-ROBERTS	COMPANY INC TING COMPANY, INC ATE FIELD OFFICE COMPANY	ALL	18,000.00 5,000.00 47,000.00 24,785.99	18,000.00 5,000.00 47,000.00 24,785.99
LEHI APAG PHIL ENG 63701-0000 LEHI APAG	MAN-ROBERTS C- MISSISSIPPI, LIPS CONTRAC INEER'S ESTIMA EACH MAN-ROBERTS C- MISSISSIPPI,	COMPANY INC TING COMPANY, INC ATE FIELD OFFICE COMPANY	ALL	18,000.00 5,000.00 47,000.00	18,000.00 5,000.00 47,000.00

Date: 06/15/11

Bid Schedule - Option C

Project No.: PRA-NATR 3H23, J10

Project Name: NATCHEZ TRACE PARKWAY - MP 200 TO MP 204

BID TOTAL CHECK PASS

Bidder	Bidder's Bid Amount	Computed Bid Amount	Error
LEHMAN-ROBERTS COMPANY	961,283.39	961,283.39	
APAC- MISSISSIPPI, INC	1,047,260.67	1,047,260.67	
PHILLIPS CONTRACTING COMPANY, INC	1,152,222.00	1,152,222.00	

The apparent low bidder is 9 % below the engineer's estimate.

Bid Schedule - Option C

Project No.: PRA-NATR 3H23, J10

Project Name: NATCHEZ TRACE PARKWAY - MP 200 TO MP 204

BID ITEM CHECK PASS

Date: 06/15/11

Bidder	Item No.	Bidder's Extension	Computed Extension
--------	----------	-----------------------	--------------------

No extension errors in this Schedule.